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1 Introduction

In the last RAN4 meeting, E-HICH requirements scenario was discussed and agreed [1]. Moreover, it was agreed that 1 user signature sequence was used for each test scenario [2]. In this document, we show the simulation results of E-HICH without implementation impairments for simulation alignment purpose, and then we propose minimum requirements for agreed test points. 
2 Simulation results of E-HICH for single link case
Figure1 shows simulation results of missed ACK probability of E-HICH for single link case without implementation impairments. Target false ACK probability of 0.5 was assumed in this simulation. The results of both 3 and 12 consecutive slots case are shown in same figure. Both results are well aligned with other company’s results [3][4].
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Figure1 Missed ACK probability of E-HICH for single cell scenario
3 Simulation results of E-HICH for SHO case
Figure2 and 3 show simulation results of missed ACK probability of serving cell and non serving cell for SHO case without implementation impairments. Target false ACK probability of 0.1 was assumed in serving cell scenario and that of 2E-4 was assumed in non serving scenario. The results of both 3 and 12 consecutive slots case are shown in same figure. Both results are also well aligned with other company’s results [3][4].
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Figure2 Missed ACK probability of Serving cell for SHO scenario
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Figure3 Missed ACK probability of Non Serving cell for SHO scenario
4 Performance Requirements for E-HICH

Table 1, 2 and 3 show our simulation results of Missed ACK probability of E-HICH with implementation impairments for both single and SHO scenario.  

Table1 Simulation results of Missed ACK probability for single link case with implementation impairments 

	Test Number
	The number of

Consecutive slots
	Propagation

Conditions
	I^or/Ioc (dB)
	Missed ACK probability
	E-HICH Ec/Ior

	1
	3
	VA30
	0
	0.01
	-27.5dB

	2
	12
	VA30
	0
	0.01
	-34dB


Table2 Simulation results of Missed ACK probability of Non serving cell for SHO case
 with implementation impairments 

	Test Number
	The number of

Consecutive slots
	Propagation

Conditions
	I^or/Ioc (dB)
	Missed ACK probability
	E-HICH Ec/Ior

	1
	3
	VA30
	0
	0.05
	-15.5dB

	2
	12
	VA30
	0
	0.05
	-22.8dB


Table3 Simulation results of Missed ACK probability of serving cell for SHO case

 with implementation impairments 

	Test Number
	The number of

Consecutive slots
	Propagation

Conditions
	I^or/Ioc (dB)
	Missed ACK probability
	E-HICH Ec/Ior

	1
	3
	VA30
	0
	0.05
	-21.8dB

	2
	12
	VA30
	0
	0.05
	-28.5dB


5 Conclusions
In this document we presented simulation results of Missed ACK probability based on agreed assumptions with and without implementation impairments. We would like to discuss the final value of minimum requirements.
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